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NOx 80
24 12
NOx
(1)
(2)
45
(3)
(1)
80
36,000 */h
72,000 */h 72 83
72 81 SPM
9%
(2)
pF 1.1 2.0
11 pF
72000m°/h 600  1000Pa
40 ATHz
(3)
NOx
NOx
NO
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24
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20
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36,000m°/h  72,000m/h
NOX
80%
24 12
NOX
O
NOX NOX Nox (-
) / /
(ppm) (ppm) (/h) ( /kuh)

36000m°/h 24 0.385 0.068 82.2 5653 2 1.40
(20m/sec) 12 0.516 0.098 81.1 4497 29 1.85
54000 m’/h 24 0.358 0.079 78.0 9671 29 1.52
(30mn/sec) 12 0.488 0.105 78.5 6631 40 2.09
72000 m’/h 24 0.382 0.081 78.7 0185 42 1.32
(40m/sec) 12 0.509 0.082 83.8 8044 59 1.91
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NOX ppb
BG ((OF OO
3)=()+(2 4
(1) @ =M+ O)
295 316 377 -16.2
21
33 57 81 -29.6
24
18 42 39 7.7
5 38 41 -7.3
33
16 49 44 11.4
298 315 328 -4
17
15 42 69 -39.1
27
18 45 48 -6.3
19 64 69 -7.2
45
25 70 67 4.5
BG
NW
SE
NNW
3.0m/s
VWNW
NE
Sw
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2.25m

20m( )x  50m
45 20m x  20m
35m 30m
20m
@ ) @ ) @ )
NW 155.3 32.0 123.3 95.8 79.4
SE 20.2 4.7 15.6 12.1 77.0
NNW 97.4 19.4 78.0 60.6 80.1
WNW 162.3 33.6 128.7 100.0 79.3
NE 78.4 15.1 63.4 49.2 80.8
SW 97.3 20.2 77.0 59.9 79.2
m3

NW 26747.6 100.0

SE 15195.5 56.8

NNW 22086.0 82.6

WNW 23773.7 88.9

NE 22093.9 82.6

Sw 22056.4 82.5
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30
(m)

NOXx(ppm)

- 12568~ 20.025
54419 ~ 12.568
2.

0.0155 ~ 0.0359
0.0067 ~ 0.0155

(m)

30

NOX(ppm)

12,568 ~ 29.025
5.4419 ~ 12.568
2.3563 ~ 5.4419

0.0155 ~ 0.0359
0.0067 ~ 0.0155

10 10|
100 200 300 100 200 300
2.0m/ m 2.0 m/! m
o mis Height = 2.25 m 2o mis Height = 2.25 m
(2.25 ) (2.25 )
30 T 1
(m) NOx (ppm) ‘
- -10.0~ -0.1
-100.0 ~ -10.0  —

10
100

200
Height =2.25m

300
(m)

2.25
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10

2.25

10 45
11
11
20m x  50m
80m x  100m
o/ o/ o/
97.4 19.4 78.0 51.5 80.1
148.0 28.4 119.7 79.1 80.8
191.5 40.2 151.3 100.0 79.0
9.2 17.5 78.7 52.0 81.8
153.4 30.3 123.1 81.3 80.2
m3
22086.0 81.4
22337.2 82.3
27125.5 100.0
18139.8 66.9
21220.2 78.2

58



Wind direction: NNW /

Position : 3
%:1()) ! ‘| ‘ 240 T e :
™ L]
| il
SARNNER i 200 $11d
SZIIii: 5 = D IIIIiiiiidiind
thprraiillog E Ereeriiiiiiiaiig
200 K £ % 3 ¥ T L eirziiz % H
EE i 200 1 Fi: EEREREEEE
H ii R 5 FV§Y
s Do HHEHN
N N TR [SENTF AR
# « bt x . \ \K\\\\\\\“,/‘,
.t Nw ey PR UL N U N S NN
Pt ANk vy, LR NI
160 cer H 160 F . H
| 1
120 160 (20? 120 160 (205)
m m,
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30 T 30 T
(m) NOx(ppm) (m) NOx(ppm)
12.568 ~ 29.025 12.568 ~ 29.025
g ] s —
1.0203 ~ 2.3563 1.0208 ~ 2.3563
I 01913 o4t ] I 01913 o4t ]
0.0828 ~ 0.1913 1 0.0828 ~ 01913 1
0.0350 ~ 0.0828 0.0350 ~ 00828
0.0155 ~ 00359 = || 0.0155 ~ 00359 L
0.0067 ~ 00155 k 0.0067 ~ 00155

10 ‘ 10 ‘
100 200 30 100 200 300
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T
—_— — ~ 3 e — — ]

WX(PPm)
12,568 ~ 29.025
5.4419 - 12.568

2.3563 ~ 5.4419
1.0203 ~ 2.3563
0.4418 - 1.0203
0.1913 ~ 04418
0.0828 ~ 01913
0.0359 ~ 0.0828
0.0155 ~ 0.0359
0.0067 ~ 0.0155

300

300

2.25n
NNW 3.0m/s 3.0m/s 0.177m/s

10
59




300, T 300 T
NOx(ppm NOx(ppm
(m) (ppm) (m) (ppm)
12.568 ~ 29.025 12.568 ~ 29.025
5.4419 ~ 12568 I 5.4419 ~ 12.568 .
63 ~ 5.4419 2.3563 ~ 5.4419
1.0203 ~ 2.3563 - 1.0203 ~ 2.3563 \
0.4418 ~ 1.0203 B 0.4418 ~ 1.0203 —
0.1913 ~ 0.4418 0.1913 ~ 0.4418
0.0828 ~ 0.1913 3 . 0.0828 ~ 0.1913 .

00359 ~ 0.0828
- 0.0155 ~ 00359
00067 ~ 0.0155

- 00155 ~ 00359
0.0067 ~ 00155

100 200 300 100 200 300
(m) (m)

20s Height=2.25m 20 Height=2.25m
2.25m 2.25m
30 T L
(m) | NOX (ppm) ‘
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(number/mz)

2.0m
1.0m 0.5m

40m
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(number/mz)
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95 70
85 65
75
36,000 72,000m’/h
80 SPM 99 10
/h) (ppm) (ppm) () (ppm) @) (ppm) ()

36059 0.086 0.002 98 0.024 72 0.013 85 123

54746 0.081 0.004 95 0.030 64 0.017 79 62

71923 0.076 0.001 98 0.024 68 0.013 83 126

36059 0.442 0.052 88 0.111 75 0.082 82 123

54746 0.359 0.054 85 0.109 70 0.081 77 62

71923 0.473 0.066 86 0.159 66 0.113 76 126

2000.1.4 2001.1.26
(m’/h) (mg/m’) (ng/m) () )
2000 12 72000 0.089 0.001 99 53
10 SPM
3 11 pF
1.1
1.7 11
72,000m*/h 800
1,000Pa
40 47Hz
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pF )
12
(n*/h) (x10Pa) (H2)
1.20 1.25 5.0 5.2 37,256 38 26
1.28 1.34 3.4 3.7 70,032 60 39
1.21 1.25 6.0 6.4 54,977 50 33
1.20 1.23 11.0 11.3 36,116 4 27
1.25 1.28 17.1 17.1 35,968 51 30
1.19 1.32 19.9 20.0 36,128 55 31
1.22 1.40 23.6 23.7 46,483 72 37
1.23 1.61 24.5 24.5 60,200 86 2
1.06 1.48 21.6 21.8 72,067 100 47
10 1.16 1.57 16.3 16.5 71,795 98 46
11 1.31 1.47 11.0 11.3 61,841 86 a2
12 1.60 1.65 5.9 6.3 67,775 73 a4
1.61 1.66 2.9 3.2 55,019 58 35
1.20 1.35 14.7 14.9 49,914 61 35
11
13 NOX NOX
1.30g/kwh 17 17
0.60g/kwh 1/2 1.51 0.75g/kwh
1.14  0.55g/kwh
2.00
E 1.50
<1
=2
1.00
=< 0.50
(@)
Z 400 ‘ L
— (V] o < mn o ~ Qo o o — (32) < W (=) ~ 0 o o — N ™ <
— i — i - i - - i i [9\] N N [9\] N
o i N o <t mn o ~ [ee)
o O N M < Te) (=) ~ © (o] o o~ o
i — i i i - - i i - N N [9\] N
13 NOX
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NO pF=1.18 NO
=81  pF=1.85 65

12 + 10

100%
80% [ * 5
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<2 L
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3m/sec 'ﬁ" 4“ > 3m/sec
1.00 — 3
36000m~/h
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0.00 L
12/10 12/20 12/30 1/9 1/19 1729 2/8 2/18
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NOX
80 24

NOx
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80
36,000m’/h
76 82
SPM
99
pF
1.1
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45
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72,000m*/h 800
1,000Pa
40  4Hz

NOX

NOx

NO

PTIO
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